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Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 175

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall,

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examinationn Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.
Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, 1.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.75 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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TS TG AR5 NS, IBR 76 A0 TIPS “[IQ A (FIE| O G0 7T S
[ % AGTS R P GO 7@ (20103 910 29 #A5 ?

A) €T (B) ©ifs

(C) T (D) ffa

SRACSA R SRR T AT @I A e 7e AZR 7@ 2073 s s
FSH AN ZIPS AGINSF 7o (20T 910 20 204 ?

A) 9T (B) TH

(C) “m (D) fem

TRATH T9am™=Rg’ 3= 9ifed, Bl s TAEUE ] AHsHT AFY TSR TR ATH 2HTET
TEE TSATE T T BT T AFSHR ] 2

A) @ (B) T

(C) <= (D) wugm™

YT & FAE JAFA & FAFAR, Th TIHA & o &7 H J=3a] YT Hi o [0, Th TeH1ah
A 1 FH F F9 fohad T3 9 Uk H=T1 UT TSI deh 2 9491 I T8 2

(A) TH (B) =X

(C) T= D) =

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four

(C) Five (D) Three

fffae e W @R RRR @ - FEE @R T iR wWE N ®E
E“f\\v L1 .—J

(A) TEFE W (B) e siksii< foar

(C) TalivifeT 32k Caltte D) =i PR

eTC3 Sl <ot W @b E e, “FAS SNE GG SRHF QR SN O See] 2 [ ?
(A) THHIF W (B) = s Foar<

(C) ol Coif<(tal D) =ik B

TTEEH AR AT ggMH, “ITMATT 3T TEE A7 FAR 3T 5 1 A ?
(A) TFIGT HATAG (B) ST et

(C) TTIETF TRE e (D) wrafas
ferafad 3 & fohad a1 o “Sdardr 70 Farag ATUHR 2 3R 35 § ot J1T° 2
(A) FZIEIL TG (B) AT et

(C) A FTREA (D) wrafas
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Who amongst the following said, “Freedom is my birth right and I shall have
1t” ?

(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak
(C) Gopal Krishna Gokhale (D) Bhagat Singh
(T TS WP S (27 e 7R 17121 fAor I Mo (2% 2
(A) 1526 (B) 1536

(C) 1556 (D) 1576

ST QL (T WO TTOR #O+T2 T F'© 4BCH R Z7 ?

(A) 1526 (B) 1536

(C) 1556 (D) 1576

T ATITETE ST AR 544 T3 THTa A 2 19 gragm=n sEmEmE 2
A) 1526 (B) 1536

(C) 1556 (D) 1576

OTTA 31 el S12TE s 3N 29 6 A" 3y EEERIl

A) 1526 (B) 1536

(C) 1556 (D) 1576

The second battle of Panipat fought between Akbar and Hemu was in the
year

(A) 1526 (B) 1536

(C) 1556 (D) 1576

TIed WETT SRS SReS el Fatae (@&l T 2eNAR[T ard tebwa 95
MWES “&%qq «hle TR (NOTA)” M55 F=a8 Tz ?

(A) 92, 2012 (B) «t=4<, 2013

(C) FE@E], 2015 (D) A, 2014

oITeR 4T Rl Siared fquesTel FEATE FUE 2N ¥ oind 9w faena
“TALAA (Fea+ (NOTA)” &l FAZe ?

(A) =5pD, 2012 (B) =teHq, 2013

(C) =Fmife, 2015 (D) ®TFEE, 2014

THard Todted T5a3@’ 37E Ae YA [99E  AENAT Yie aFgad 3™ T
AFaa1 95T (NOTA) B FTs@ s e ™ sEEdeEE ?

(A) AT, 2012 (B) Ta=T, 2013

(C) <Ham, 2015 (D) FF=*sT 2014

T o FATE ST 1 YR 3 9= as1 3761 3 7aeH fasheT 3 “ITEa § 9 %1 92 ()’
TEel AR A AL R ?

(A) 3, 2012 (B) Ta=y, 2013

(C) ===, 2015 (D) FF=FgET 2014
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When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?

(A) August, 2012 (B) November, 2013

(C) January, 2015 (D) October, 2014

T3S Y= (DT 9T wm e 7= ?

(A) 7RI T-E1S PR IR MRS FTREFHT S S |

(B) TF o tzz fma »id9ee o@ (VEF1) Teomm<piar o |

(C) 2B Al Tarr G SN S%ew 5] Sqeq QUalFaR [999S ZS W% |
(D) SFeq &332 FAR I EAD $TA0© LS |

T i e’ wam e 2

(A) v -4 (delta) %2199 IZ@ 9 92T (mangrove) I |
(B) T +frSia 92e% %@ (mica) TS |

(C) DHREN G 2ol ¥ SRS I [0S |

(D) SIS WP A2 J2EN ST 0 SEHAND HAZS |
TR T AT ST ?

(A) FrelaAi F-5T 371 ggaf w5 g3 cf o= 7ud g 7 |

(B) WRAT g4 5 -G 3 194 AT3h1 fegu1 21ed |

(C) YRAH TS AT ITME A 81 STErIsT e E 52 g |

(D) WHArd SeRg3 Tar e T ¢ A fsapnsasmE g |
fAfafEd A A HH A FYT TR 81 & 7

(A) et Teel g1 % g9d g JE T H1ELE |

(B) =14 599 =1 998 91 379+ IceF 2 2 |

(C) ST FM UH H-HF &7 & 31 WG (o0 e 2 |

(D) WA 999 921 FAC A @H TH1 31 e Tor0d 4 fa 2 |

Which of the following 1s NOT a correct statement ?

(A) Sundarbans delta is home to the largest mangrove forest in the world.
(B) China is world’s largest mica producer.

(C) Easter Island is a land area that is antipodal to India.

(D) India’s largest inland salt water lake is located in Gujarat.

TS 2T FT3E4S FNTT RG] e SE Y e ?
(A) T TNER TSNS T (B) I 77 “f9uere SAwiamel
(C) for wfaze s (D) faom e ANTae!
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T SrgEtre i “meelT el oz wege waiee 2

(A) faomit won fire g B) ifr v Soia e

(C) T A iea SR (D) Taom @te e

Td ATIAATE MTEE 99 GG 1 Ar6HEE AEHEHE ?

(A) T FEUR FEE FEAEE A@EERAE (B) @i IAEE ! 2RI EHA

(C) Toar@TE™ETE FEIATANE A (D) T34 BeaTE gaaEaEE | aEg A
Tete Uae A foefeiiad 3 & & 91 %ed Iae fharman gt 2

(A) Tacaft amAETe #1 A= (B) WTE T84 W urday

(C) geH & o1 HrE™ (D) T 7@ = ufday

Which one of the following steps did the Rowlatt Act incorporate ?

(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad

SITed TN TIREFR (T TS 22N s Nfea R fyfe e we a5 e
2mie ez ?

(A) 1985, ¥F. SENS! (B) 1987, 2 V=gl

(C) 1989, =ifext 4 (D) 1992, a1 @&

TS TN TRIFR TR IR Q3R FICF @2l N 2a7 IR 7@ Fearzet 2

(A) 1985, =4, SFNe! (B) 1987, T wienaial

(C) 1989, =ifex faat (D) 1992, @l TS

T i o Tat st it ses faemf fag | A faaasm 9m ST s gam 9 am ?
(A) 1985, IR YHAY (B) 1987, 3g WerH1

(C) 1989, Hirqar &t (D) 1992, Feu a==i

T o FaT= AECH A Tha a9 9 FTH T2l Alact] AT i 36 1 3717 64 g%
e 2

(A) 1985, 3R WA (B) 1987, 5gHeEHT
(C) 1989, Hiqar st (D) 1992, Ffea a==i

In which year did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?

(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra

(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee

(P TS SRSRS (SH PR 7S I Ty R 21 I299 “[[f 18 J2107 2 F1 = ?
(A) 1986 (B) 1988
(C) 1990 (D) 1992
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SLRC-2022/P-IV/B 9 E‘I’%‘Q“# P.T.O.



8. TS (SR e Ts™ Y& R 21 IOF (ACF 18 0 T4 TR %e F© A ?
(A) 1986 (B) 1988
(C) 1990 (D) 1992
8. AT W ARUTIE! HHAT UTE™ A1 FSTSYT JA/ET 21 FERTHE 18 FErfad 59
AT TEE AT SETEA 7
(A) 1986 (B) 1988
(C) 1990 (D) 1992
8. YT H HAEH 1 AIHR ITH Hid 31 FAq9 377 H1 (67 79 7 21 I A GTHT 18 T4 L
femmanyr 7
(A) 1986 (B) 1988
() 1990 (D) 1992
8. The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year
(A) 1986 (B) 1988
(€) 1990 (D) 1992
9. TG © I SRS AR FeFeR Y11 E e 2T e 2
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. I SEFR (FF IOT SRS AU (FEI! (T (e 0o 2% TS Fae?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. I AT falf o311 Wil T e /g | el - A feef i3 A ™= 2
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. USRI 9Ra F1 T H1 HTerhal A feeet HEE fHam gt ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. In which year did the British transfer the capital of India from Calcutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
10. HBAGR TRIERT Y2 SR’ (T 0120 wa%s ?

(A) = (B) W =l
(C) 3G To.T. (D) TS
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10. WEEIoT TR T WM 9T WS (FR WL ?

(A) i (B) 2% (The Hague)
(C) SxIHG T D) FTRF
10. B oSt e 2 ST IR G 7
(&) @ (B) z#&
(C) =TI (D) =IFTH
10. SAAUFE A= 1 AT Hal a2 ?
(&) @ B) @
(C) aTIFTeA (D) =I3TH
10. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York
11. M TS “5TS T (Ot o e’ “SiEva” i i t2iee 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. SACST ST (GRITIAT SR MR o 0T exT 2@ 2e ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. =9 9UTEAE TEAE f9HE! IRa 3 791 1 71 2AE JeEH 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. fopa 3 d 9Td = T3 S 1 A=FET FH1 3 €S AT ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. In which vear the title ‘Viceroy was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905

12. fufei<s @G Hdaiias Tz wiiEs e G Re Siefkes ' 9E (e ?

&) SR =il (B) e WLl
(C) WPl (D) RN ST
12. foca Sratare m st (e @9 e qeotenie S «fmm sfre =@z 2
(A) TSR o (B) &% sg@
(C) W TFOE (D) e T
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12. FESoUE BESATRIIGANT 79 Al s Aaz1T1 T A 58 2

(A) Hfa wiit (B) Tty #ift
(C) Tfawil (D) =Y BT

12. STSoiE U1 Tie feraad fera Fautf=es ITaam™ &1 Iiomg & 2
(A) g g (B) el HgE
(C) Bl sTgE (D) et ST

12. Bodoland Territorial Council 1s a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
13. P& [ -9 5O w4z ?
(A) ST 20w (B) Tl
(C) o= D) frERN
13. “P& (Pakyong) AN~ oidf%s
(A) ST 20w (B) ey
(C) e (D) fcemEm
13. T 3USELAT TE1E 7
(A) FTEMESA T (B) Taferm
(C) =R (D) fo=swm
13. AT 2ATE HEIHE A2 7
(A) FTEMEA T (B) Tafma
(C) =R (D) fasma
13. Pakyong airport is located in
(A) Arunachal Pradesh (B) Sikkim
(C) Manipur (D) Mizoram
14. 2% 219 S| 20T CHTOR| ©ILd &l &7 Tah t20e -
A) @ERI AT B) &2
(C) =rel (D) T
14. Zge e 21l 2R YTaTe Y[ T (@1 @ 2dia 07 “iex! am
(A) GFHIF AT (B) siret
(C) =fe D) K
14. FSU1YTE-AE F3HE3 T a7 SEETE JA1 AHAE JARA AT AT ?
(A) FHIHE FaT AT (B) AEITTS
(C) FK (D) =
14. =1 B0 W] T AT S ST T8 37 79 HTHd 2 -
(A) T HTEA (B) =
(C) =®l (D) ™=
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14. The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow
(C) Elephant (D) Tiger
15. T2NeT IEIIETS BN G GRS S 37 91eFa N[ TH :
(A)  “ffmT oz (B) TS RCARZ
(C) 4N a2 (D) WS |G (5lrz2
15. T20R T AGTH0E 2N ANTE 2 @R 371 oS 2w f2rem
(A)  fmT oz (B) IR TR
(C) <INCHe a2l (D) R 9941 (517213
15. FEaH UEATGYTS 99719 378 9 A1 B 11818 SR JeAT T THETs 37T 71 9 7
(A) TEET TIETE (B) WhTEFY SETETS
(C) WHHA FUITETS (D) 9 FIHE TTER
15. FFTFT o 9 HTed o GH AT 1 6 TJ@ AR FATTHE S a9 -
(A) TriE TFETETE (B) WhTHTHT SEITET
(C) EMaTTERE (D) 1 5TH TER
15. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was
(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain
16. TTI-%[T SRS (4 ST SN JIGTHE FNE 0TS HeFH TR 2
(A) feeg B) faat
(C) TR D) fHrERN
16. TTA-+3 SRCSA (T AL ARFATHT S5 AR F STl 7% 2
(A) wfewE B) @@
(C) TR D) FeEn
16. FT-FTH GG 59 TSN TGHE TTATCIST ATAETAAT ?
(A) AR B) fmm
(C) HETeH (D) fasmEm
16. TERH 9RA %1 F8 T5F AT ARATGI = 9 HH1 121 781 Hdl & :
&) =y B) fmm
(C) ==t ) IREEE
16. The State of Northeast India that does not share borders with Bangladesh, 1s
(A) Manipur (B) Tripura
(C) Meghalaya (D) Mizoram
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17. Frafere (9o sz fooas sive «+h! (a0 :

(A) TALF (B) ZF=

(C) wiaR=l (D) Tewi*E
17. & 2§ h e (@9 A |

(A) SIS (B) TFF

(C) ioresl (D) fexiv@
17. TTEHEE BFMEH 15 TREeaE T T |

(A) T (B) ¥

(C) FTTAe (D) <M
17. fema=rgd |

(A) TR (B) FHIA

(C) FwTTaer (D) <A
17. Find the odd one out.

(A) Gangtok (B) Imphal

(C) Agartala (D) Dimapur
18. “712 ZRIS” TG P (FiF Sifatee ™ ore sweifFs ?

(A) TfTe (B) =4

(C) Irat (D) wEe2
18. “#2 2SN SRS /1003 (i SO HH I ?

(A) TR (B) IS

(C) st (D) w2b
18. T3 ERISATET BRATHT & o BT AAd 2 ?

(A) fafam (B)

(C) T (D) #saE
18. fo=Afcifed 4 == 1 997 “A13 BRET 30699 9 993 & 7

(A) fafam (B) =Tl

(C) T’ (D) He3
18. Which one of the following groups, is the festival “Lai Haraoba” associated

with ?
(A) Mishings (B) Karbis
(C) Garos (D) Meiteis
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19. ST 790051 TEI-1F SRS (PRI T129 HAES 2
(A) HisH| (B) AL
(C) MR (D) TFe
19. e gel Ted vj4 Siared (i wqEs ?
(A) israes (B) SUiGH
(C) ZHFsE (D) FFe
19. T fohemn - A YA 981 5 2
(A) T (B) e
(C) $eET (D) 3FHT
19. 3T T3 9RG H HATA (hell T 2 -
(A) 3FAATH (B) Tem H
(C) e H (D) SFHIAH
19. Where in Northeast India is Kangla fort located ?
(A) Agartala (B) Gangtok
(C) Itanagar (D) Imphal
20. “SiefeT” WH! [ FEEE TS A ES 2
(A) TEewl (B) Tamm
(C) frr=ent (D) Tz
20. “SET * L G A A A FS ?
(A) T (B) Tamam
(C) =l (D) Tz
20. “AHT BRETTEEE BHE 59 S HS AHR S ?
(A) IR (B) wrgdnm
(C) T arm (D) Tagar™
20. “defer gmfiafedfrawradagag e ?
(A) =94 (B) sgad
(C) fomggd (D) fegad
20. The term “Tirthankaras” is associated with
(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism
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21. RIS R SRR SIaed AER IS (I ?

(A) TFEWRE (B) b=
(©) ws D)

21. EFAISA (PG SETSa STOR 5 ?
(A) TATIE B) W
(C) @y (D) fow

21. WAl BTN gHIFTAT?
(A) EE [HE3 (B) 97 (Banyan tree)
(C) i (D) ™

21. HATYHTEF TR T GRG 1 UFE 35 HH A2 2
(A) R (B) =g
(C) e (D) m

21. Which 1s officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem

22, ‘'A% (olie @RIE T SUF Sl 2’ TNT T -

(A) TR (B) SFH© R
(C) wmiF (Grag (D) A st
22. =iefer sigl (ARSI (Agnes Gonxha Bejaxhui) (31 &Il 2R SIT ST 2R -
(A) e (B) wFwe! AR
(C) W G (D) HroE e
22. TTETA A 38 T A1 31+ 934 (A= ?
(A) o= (B) I=4fda™
(C) HTER 2 (D) o fastear
22. T8 9 | wE T SSa3 1 3w AT 1 A6 A2
(A) Hrea (B) F®fqia
(C) wEIE (D) Tarexfgarea
22. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita
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23. TFE N AR GiE e i S
(A) TAGIE e (B) TYEHNZ
(C) Q=[h 2B (D) & RE
23. T3 GIEALCE G ACTS SQIwe] A2 2
(A) @ TR (B) TR YT
(C) SERAG WZH13 (D) T R®IT
23. IR TAWTH A IRE™E H12H (Codes) Bl feg 1311 7F ?
(A) FATHA Shehie (B) d93A A
(C) FATeaE FABTEA (D) TH TS
23. T % [T IS H1 SFATTERT [HE [T ?
(A) ST bl (B) dg3a A
(C) AT HATFETEH (D) s
23. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) dJohn Baird
24. SF0H 20 F[0S @& ((NEFA) 7 Seiene oiizel | NEFA 9 «f@eith] T2z :
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
24, SEEEDF LTAE AR AN NEFA 7 %% 591 1 2
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
24, AFITAE FENEA JIGE | (A=A NEFA 5 3719 stgsm an 2
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
24. NEFA %10 €151 2 — 59115 T80 e 1 Tact AT Sar 9T 7
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
24. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
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25. THEee @R SReRE AT TR ?
(A) TToiigt (B) «f«igk v
(C) T=-sizfq (D) =TT A
25. oty SaEfee R SRred ZRR AR ?
(A) Py (B) 9F BT AGH
(C) T == (D) freiar
25. TR T HRAA SHA SRR AT ?
INIREEIE] (B) THTTHITTEI
(C) ZFmyEia (D) &1
25, frefafgd & %9 9rd &1 9 famt 78 2 2
INIREEIEI (B) U H ATCAIE
(C) foedft gm (D) g3
25. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
26. S oA (PR @RS Y4 SN e Sl 2
(A) T i (B) T iTa
(C) i @Az (D) 3t 1=t
26. T TFGCE G 915 @i 7 TiE oo A ?
(A) TP TR (B) Tpeet it
(C) T walz (D) T wIge
26. F9 AEYAE oA TR ATTEE BERR AGHH ?
(A) faem=E (B) THEA HRIMR
(C) faE=a=s (D) Toea &
26. fowafea A 769 g™ s g grfawE s of ¢
(A) TomaEm (B) Toom s
(C) Tm==3E (D) TeEFEA
26. The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
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27. WELT @3E o @ e 2
(A) E.CP. =Y (B) T34, «T1qR]
(C) =R.GF. T[ARe D) HE.GF. Hfas
27. ‘Malgudi Days’ 2= (& feefecss 2
(A) .G, TE (B) .34, AR
(C) =R STEaRe D) WA, AT
27. ATATS! o TaaeE | 9 o 2
(A) AR, TEIAT (B) . AR ARET
(C) #ARF. ARET (D) #AR.F. Aed
27. ATATSI S HI @A TR H1YT?
(A) HTh. FA&HAM (B) .. IETH
(C) #HARH. ARET (D) #AR.F. Aed
27. Who wrote the book ‘Malgudi Days’ ?
(A) R.K Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
28. (GF (2T
(A) BT FTE VT (B) (@2 0w A2 =R
(C) a1 A2 @RI (Fe¥E fThad (D) WHE92E IR
28. (F 2=
(A) SBETRFgS @TEE oE (Interstellar laser weapons)
(B) dtewz 1@%‘( (Night vision binoculors)
(C) SIfT® T A % W,\WH@% % (Crawling land mine detectors)
(D) Wﬁiﬁ%‘l S (Unmanned ariel vehicles)
28. THATIAEE
(A) SEREEAR TR a7 (B) Mm@ 39 g5
(C) WHSTIA! U o1E ATEH SRE T (D) ARFTEE TN YT
28. TAZE:
(A) ZTELA T FAYTR (B) e fasH g
(C) Teraedt e urga feewer (D) A4 H&d gams Jea
28. Drones are
(A) Interstellar laser weapons (B) Night vision binoculors

(C) Crawling land mine detectors

(D)

Unmanned ariel vehicles
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29. RIS SfeE 245! (PRI THE CIa0a ifzet ?
(A) ToreTaiboeT vra (B) wfEEwm
(C) TSI (D) fg =i
29, I SAMSWE N (F FHIe CATERIG ?
(A) forerafGw et (B) e ax
(C) oIl O) figTg
29. TTEE FIETE TR AT FER TTHE ?
(A) Frearéas | (B) HNH3 T
(C) g (D) g e
29. foAfaiad 91 9 9, UF Feala R@ael & H 91 ?
(A) firesde arE (B) ®H A
(C) g (D) g ==
29. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tayebunnesa (D) Mithu Baruah
30. FTHfE® (R SR YAIS: (FES “iE w9 B 2
(A) @ (B) AN
(©) T @) T
30. FICE (PR TG &y (FAEITS SHRivE R 2
(A) T (B) T
(C) T (D) weTEq
30. TITETA 58 A BRERE | hIcT3TE Bl ol ?
(A) g (B) A
(C) e (D) et
30. TofafEd 33+ 91 AR 967 T 9 e d 7931 F641 2 2
&) feareh (B) 3mM
(C) Hme (D) e
30. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
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31. 2022 TR SR NTS RS (e e #E T2 2

(A) JEE (B) =

(C) ORErE (D) w=ER
31. SREIE! 2022 e SATH (i TS (ST 2R e ?

(A) J=E (B) a3

(C) ORETH (D) @2
31. SFAR 2022 @ 3T 79 (HARE 1 EF A ?

(A) =t (B) =

(C) AL (D) &=
31. SHeRI 2022 9 37EA H1 HH &1 THAT SAETTATLT ?

(A) =Tl (B) =TT

(C) aHeTH (D) BT
31. Which district of Assam was created in January 2022 ?

(A) Bajali (B) Baksa

(C) Tamulpur (D) Hojai

32. 2021-22 EF AN ACED (FI Tif2reT izt 2

(A) Tox® =] (B) =&®l Gles
(C) rgel 5at (D) TG (71
32. 2021-22 I Gy SPATHT AT (F S¥FEI7 FATLC ?
(A) Tze o=t B) =S FTesl
(C) =gs Il (D) =Cerre (o1
32, 2021-22 AT ARTT FEM A S I ARG THGHH 2
(A) Tea=a Tsg =1 (B) 3@l f=am
(C) HFAT (D) TS
32. 39 H fhad 2021-22 F1 a9 1161 ?
(A) fzad feva ol (B) 31 I370
(C) Fge = (D) I
32. Who presented the Budget for 2021-22 in Assam ?
(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu
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33. FTIe<S (R4 TR AR TS SIS Wi ?
(A) Y (B) Tr=eif*ifa
(C) fcd (D) TSI
33. oty Srarre wRiefeE 0 (PG @ wd nesel S SiaEs ?
(A) R (B) Y
(C) fwca (D) ArSFH
33. TR F9 A FAFYL ST @ T F[3AE € 2
(&) A (B) gaars
(©) fe= (D) T
33. TH=rcRad ¥ 9 H &1 761 & ¢ % & ae W =d 2 2
(&) T (B) g
(C) feal (D) TS
33. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansir
(C) Dikhow (D) Ranganadi
34. frafefre e fowqe @R tare SibiRels [ S o ?
(A) Tosfita e (B) [N6IT (<lfaeTISI
(C) eiZane Hiieia (D) @G el
34. frcy Sraferem@ st @A 2THey S w2
(A) TSR GIiERTIsIE (B) [T GHliaeialE
(C) eizsie iRiei (D) &= ereaE
34. TTEMEE T8 9EE HTTSHE 94 71E Tegm™ g 2
(A) T ArgEra (B) TACHE AEETA
(C) wTITE AeEtd (D) TATERI FEEta
34. Trefefaa @ 39 o aed U ST T 2 2
A) farar frered (B) FATeliTg fpTe
(C) SFTTETTE fpred (D) AT frpread
34. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery
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35. ToTafeT<[o (< SIea FNT BSOS AN 0O TR TR 2
INBEIRIGE (B) Toi=w
(C) Re=EN (D) 6w
35. FICy Seafers (A ArEnih SR 03 S S R ) ?
(A) il B) i
(C) frsEN (D) o
35. TTETAM T8 TSI AT T9H1 THATIATAT ?
(A) AT (B) faferd
(C) fosmm (D) dFE A
35. frefarEa ¥ 3 H 1 7T 3799 F T 01 A7 F6 Ha 2 2
(A) HFTAS (B) fafwra
(C) fasmm (D) fFs FTTe
35. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal
36. el qAER Swie s @ e »f g 2
(A) TSR B) FITHIER
(C) wT9ite (D) wfasis
36. TR @M (FAIGE FfEate! ABR T = Faf ?
(A) TSR (B) S =igae
(C) =alie (D) wfasite
36. AT BIHATR Trehat1 74 Foean {5 fammsma i 2
(A) TETETE (B) wId AT
(C) 1A (D) #fEE
36. T UPE IIE fAdEd A afEa s w1 adi gar s ?
(A) TEETE (B) HTE ATARS
(C) i (D) drmia
36. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
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37. PITIeRE MG AS! U4 o7 A< TS (T S[@IpT Teq I 272 wafEs 2

(A) Taeeniv e (B) =sftae [
(C) &F = (D) ENE *FA
37. TepieaE Mol e o Al Tiviacs S| iz 2
(A) Ta 2biw arel (B) =sTAS A
(C) & A (D) ERT ¥FAT
37. TomEm A amEtesE o= fag mEfa SR I mie S& FR- TEard g 2
(A) e T T (B) TH(e3 THTH
(C) FEHTR (D) #¥d Iepicd
37. ToEEr s T4 fe@ 1@ % O ImHl | fhasn fom =ia 2 2
(A) e e T (B) =H(e3 TFHTH
(C) HATA IR (D) 4Hd I 3
37. Whose resting place 1s at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev

38. Y91 ET GFERCS! (FICT Z7F FZe ?

(A) EF WD B) @F G5[EMS
(C) &F oM (D) &F =G

38. TFACITE YA 2wl FARCEw ?
(A) BFETRF (B) @ (o5l AR
(C) BT 5™ D) BT G

38. gFRATHTEZRRE I ARTHIAT AH ?
(A) TEAE (B) % SR
(C) %38 (D) TE A

38. Tordq qadl ATEgRT &1 =TT T 1 ?
(A) TETS (B) % eI
(C) TE 3T (D) TF

38. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
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39. PR TS wiom 91 2w S/ SieEar e =fes 2
(A) =EFS HWF (B) Z®=I¥le
(C) w=®! A (D) faiars
39. SR TFGCAT e SieE @l ¢ e 2
(A) HEAS AP B) T HTE
(C) =] A F (D) ot ate
39. TR AEYHET fitetaa smss wEgy 3 gen a2
(A) HAES ElEH (B) =1 HWM
(C) 3=l Blfe® (D) s =
39. e fhen H Tl afaet Sf-al S 91 2
(A) FATEE HeHh (B) 39131
(C) A== aeh (D) Tsn =
39. Who was the first female actress of Assamese Cinema ?
(A) Aidew Handique (B) Ebha Ashaw
(C) Abanti Handique (D) Vidya Rao
40. frifEi<s siza fowas sert (UNESCO) X5 dfeg 5@ (@b 2

40.

40.

40.

40.

(A) re@Elaa e (B) wIEIL

(C) ey s (D) WFEFER THE

fertar Sratrera vy (s UNESCO @9 afozrais) zm 2

(A) e &l (B) SEFU

(C) i = (D) W AZR T
e 9371 UNESCO 4 %ot 33 Amets 9 2

(A) AT 21 g (B) gaiESl

(C) wHTETEAT A (D) AFE FATH IS gwmET
fefafad 3 9 &1H T Z75h] fa0Hd a2 ?

CVIIE SR (B) g

(C) =T A (D) AME T 3=
Which amongst the following is a UNESCO Heritage site ?

(A) Majuli River Island (B) Sualkuchi

(C) Kamakhya Temple (D) Manas National Park
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41. TG ST T8 (2T -
(A) FEFzRE (B) =Rl
(C) Tararbt (D) fom

41. TG AR %% 29 -
(A) IETTEYCTT (Buenos Aires) (B) e Ereq @] (Santiago)
(C) 39! (Bogota) (D) f&wl (Lima)

41. ST THYTE A TR AT ¢
(A) =9 FTE (B) #ream
(C) =Wl (D) form

41. IS H T TE 2 -
(A) =79 A (B) dfeamm
(C) =Wl (D)

41. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima

42. 9¥F GfTR 2 FRER T © wHES
) ¥R (B) AN
(C) EIFh! D) "

42. ¥ ORI 5T 7ET 5
(A) ¥H=Z (B) Il =T
(C) SIS D) TFT

42. TR UIETATERE A=E ST TEE ?
(A) FHE (B) FATATT
(C) = (D) T

42, THUTEIHFIGEATE AR
(A) °=E (B) T
(C) hTdl (D) SHH

42. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) Jakarta (D) Bangkok
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43. TS FRG!, IR O W ATbE = TR 2
(A) TIw'm-11 (B) fomrm
(C) Wiz&F =5 o (D) TI%
43. TG AT FACHICT STabE o g ?
(A) TImw 11 (B) femi
(C) PSS D) %
43. TTEEH T8 AT Hrged [ A faen 7g1?
(A) faee11 (B) Team=
() R HEa O 5T
43. T 33 %H o Heet o fou st fawen 72 2
A) fo=m 11 (B) fo==
(C) W SATHe D) 39
43. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu
44, TS Y2 (FRGE TET RIS SIS A6 [231FR] /% (2010 [ 1) = ?
(A) TSI (B) i w7l
(C) <0 (D) W
44. 0 SCES (FRIGLE TONF SATS S [ZNFRE MG *[Fo% [201a 560 a1 = ?
(A) FRETEE (B) =T ¢F4l
(C) <FI=G (D) =i
44. TTEEN T FMIGTAE SRA4 siiraq feamea fufefar=am s 2
(&) FHEAT (B) et
(C) = (D) =
44. Trefares 7 3 53 3dam 3 WRd &1 999 a1 feaem et am s 2 2
(A) T (B) Tered
(C) =M (D) AT
44. Which of the following is presently considered as the highest Himalayan

peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana
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45. eI Seiwee 25! e Ta iz ?
(A 4 (B)
(C) 6 D) 7
45. SS9 “oFIre &b RG IS (rings) 3Nz 2
A) 4 B)
(C) 6 D) 7
45. AfAfrEF THRHeTE aHa8 589 S ?
(A) 4 (B)
(C) 6 D) 7
45. AT a7 | fohed Tool 210 8 2
A) 4 (B)
(C) 6 D) 7
45. How many rings are there on the Olympics flag ?
A) 4 B) 5
(C) 6 D) 7
46. T3S (FRIAUT @FE0 9FFS (@ R 2
(A) S e (B) THATIESEl
Q) (D) i
46. 03 Srare (PG WICAD WA = 2
(A) Bitera me (B) AT
(C) w=Fd= (D) T
46. TTEMEH F5E1 I AN FAE FHET?
(A) Teedt st (B) @I AL
(C) FA (F70) (D) =
46. TAfafEa @ afFaFEd A I@IR ?
(A) A HI Bl (B) T =
(C) +: (D) I
46. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold
o
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47.

47.

47.

47.

47.

SARE (B! H4E ST evwe fefe w9 (fadivpe G wfaarE farag sifa
=R 2

(A) IS # s B) ifF =%

(C) Tore'#re D) &' v7F =7

GRITAE (fossil) T4 fefe A 4200 ST 2ozt (i R =4 f2q 77 2
(A) S (Pala eontology) (B) &99¢ (Archaeology)

(C) $% (Geology) (D) @"T&WH (Geomorphology)
FTE | TH T TATHA] FeA3TE YA (a1 S aast a8 S (9w e g 2
(A) TeftA=ATEAS (B) 3TTRITEAS

(C) fsrrerst (D) STARHIEATS

HETIA 1 H A A AGT AT 36 SR T I TG o STaarE | Ja9d & 2

(A) S fasm (B) TUa fasm

(C) e v (D) H- T a I

Which branch of study deals with the history of life on Earth as based on
fossils ?

(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology

48.

48.

48.

48.

48.

ARG FR T G A (@< 0F T2 91 R 2

(A) ETETfRER (B) TG

(C) ==opE D) zEEMGR
ARG FR TI#1 N &) (i A& 920 = ?

(A) TEIRGE (B) WAMNGE
(C) =FoG[ D) zEEMHGE
T TS FATHEET ARG TRG 1 GAT 2

(A) FHX (B) =HR

(C) e (D) @Tsgrie
AASHA TATE 31 JT7H & 1T fhd 3T 31 3T okt ST 2 2
(A) TR (B) SR

(C) AT (D) M
Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer
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SLRC-2022/P-IV/B 29 E‘I’%‘Q“# P.T.O.



49. TA-C4T cETe e o fesieTemt 72 Ca+i2ie 2@ 9 19 S 2 AT ?
(A) e (B) vz
(C) =& (D) “roEm
49. TH-CAT CFIITS OISt 1 WEE 0 el 10 NI &0 0 205 (NITS 907 ?
(A) G (B)
(C) (D) e
49. CIEITCHTE 2T BFEAT A8 H1G HE BRTE 2761 SR TEERE 2y {5 2
(&) @ ®B) f=
©€) 1 (D) f=
49. TWI-G@THEA H, 131w ATeil EH & Thad Fe8 HgH § T390 Hid 8 SR 5 934 & ?
(A) #B (B) &
(C) = (D) =@|
49. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
50. TIEA TR Sore% 771 2RiI9RIE farad] sBae ksl B0 WEl T9R OTS fWew @l
T st I = ?
(A) SEiEdt (B) waEr<mel
(C) >zl (D) *e=
50. eRISATET (eRlel, 9=zEm) faad BN (@R Tl garse a1 % G BEE MF
ffeTe 2ane ?
(A) SEEET (B) S
(C) e (D) *rew
50. IR (AFIAA AATEsre+ 93m) 7 Hafa Fasra 711 370 941 A=l A STEE
aaf & (I AEE) g an?
(A) 9FTE (B) 3AcThTE=gl
(C) ==t (D) g
50. SRS % (Fa0f S17 (T3 3 SATRERE 1 937 | e TRimes giwmd 76 11 3R Ig1 49
fae g AT ST R 2
(A) 9FE (B) IrHEl
(C) aEdl (D) g
50. Which mythical underground river is considered to have joined Ganga and

Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?
(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru
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51. 2,6,18 54, ...... SEENI A BB 61 Ta
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. 2,6,18,54, ... TFHCS S2N A
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. 2,6,18,54, ...... HIATE 9THME 8 19 fagmEs s
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. IFHEA2, 6,18 54, ... FHIABATTE 2
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. The 8th term of the sequence 2, 6, 18, 54, ...... 1s
(A) 4370 (B) 4374
(C) 7443 (D) 7434
52. TG Ho! YR, (FIET TOR IRATLF T 20% WF 50% T | IR 751 Se[A1S
[
(A 2:5 B) 3:5
(C) 4:5 M) 7:5
52. (T 935 MR TOR TR (2T W 20% AR 50% (T | R4 G2 0T ]S -
(A) 2:5 B) 3:5
(C) 4:5 M) 7:5
52. AMA AT AT FIE AT S FATEE 20% TR 50% FW | & 3 F11 GEA #3418 371
ECI
A) 2:5 (B) 3:5
(C) 4:5 M) 7:5
SPACE FOR ROUGH WORK
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52. T HEATE U ekl T 8 I 20% HR 50% A9 &, H T3 H1 T4 3 -
(A) 2:5 B) 3:5
(C) 4:5 D) 7:5

52. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers 1is

(A) 2:5 (B) 3:
(C) 4:5 (D) 7:

[ ]

o

53. T 4,000 YFRFT =Sl q2[< 12% 971 OO 18 Wi H© (202 -

(A) T 216 (B) T 720
(C) T 360 (D) T 960
53. T 4,000 5iE B9 12% AT 2 18 W e 33 17 -
(A) T216 (B) T 720
(C) T 360 (D) 960
53. SRETCISENIN 12 TEL T 4,000.00 9 8H 18 AE TR g 54 &M ?
(A) T 216 (B) T 720
(C) T 360 (D) T 960
53. ¥ 4,000 T 18 &M H 12% ufa a9 1 G HIofd AR AT 2 :
(A) T 216 (B) T 720
(C) T 360 (D) T 960
53. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
(A) T 216 (B) T 720
(C) T 360 (D) T 960

54. I OF MR 893 (@ 3¢ FCH 9T 193 CIF1 AR | ATI! MR#F 47 @ 279

JECE CHTaT Sl 0202
A) 3 (B) 25
(C) 5 D) 33

SPACE FOR ROUGH WORK
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54. (P QF0 RACF 893 AlAI Siel T3 WA*B 193 2ATF | @2 WAMHE 47 7F1 5l
FICE S 2P
A) 3 B) 25
) 5 (D) 33

54. A FATERIT 893 H1 TH HFT YTART 193 | 3 We FATARGT 47 S THEAT HABT
YTATAT 8 AFTH ?
A) 3 B) 25
©) 5 (D) 33

54. T§ UH 941 HI1 893 A fauaa a1 a1 2 @1 919 193 AT BT & | 3 981 &1 47 9
s = T I 2T -
A) 3 B) 25
C) 5 (D) 33

54. When a number is divided by 893 the remainder is 193. If the same number
is divided by 47, the remainder will be :
A) 3 ®) 25
©) 5 D) 33

55. (T OF AASIFR SR AT CNREE 99 12:30 I&9 10 &b Wow tersiezse
2T FE | AR [T @35St 20 e wiiem temsiefze 2t Faiee | 93 .fe.
SR APFIFRA IS RS 30 NG vt o efes | Wrsieaiaa famfae SR
e
(A) 12:50 9&1 (B) 12:40 s=11
(C) 12:00 T D) 12:10 T

55. TR ARFIPE e &y FWIC €0 12:30 ¥BaE 10 W5 7t @it e |

w99, 9 cets 20 b Wil Mrztes | @3 o, ARSIePT Greyia g sa
@ 30 NG maite ¢itarze | ARSISFa GTeia 7wy e

(A) 12:50 ¥ (B) 12:40 <53
(C) 12:00 €% D) 12:10 <53
SPACE FOR ROUGH WORK
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55. 3TAGAI ATAN 31 TAMES 8 1@ 12:30 FE1 10 Toe famt 2@ wa.fe. fawm 20 fame
famt afaff 31 2@ | wafe. 3 Seeg 7 ywem 9 oA safasE 30 foqe e
BTAMEEH | 2y 1 amam fug e g3 21 96 2

(A) 12:50 f=t (B) 12:40 f=1
(C) 12:00 f=1 (D) 12:10 f=T

55. 31TH, AR HA & (18 12:30 591 9 10 T 781 271 § T3 41 2 | 981 MLD. 9
20 THe T8 3TE IAETYT | FRATeHR H F7F % FFaR M.D. 30 faqe ot 9 159 | Fmerresr

w1 faifaamayr:
(A) 12:50 = (B) 12:40 51
(C) 12:00 =9 D) 12:10 5

55. The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The
MD was 30 min late as per time fixed for the interview. The time fixed for the
Interview was :
(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

56. 20 . 73 QU Ga G2 ToTd (ralETe WIeEE 2 Wiz | ST ¥ihd ote 30°
T F MR | SFTIE AR = 791 70 Sel (202 :
(A) 10fy. (B) 17.321y.
(C) 8.16 . D) 13fw.

56. 20 NGa Txfa @5 ¥2 (ladder) TF7¥ (vertical) W% 2% @I (FSYE ITF ST |
NEBT SN S5 T (FEAT N 30° | V20T (rey S =i 791 Favbd T

(A) 10f%e (B) 17.32fwe
(C) 8.16 ¢ D) 13 e
SPACE FOR ROUGH WORK
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56. TE YT 3L H1E 20 A ARy SeamEn aArEE ¢ | 5 g 30° ' e |
A AL T3 BHFEM T5=51 - JATS31 5 ?
(A) 10fa B) 17.32fa
(C) 8.16Ta. D) 13fa
56. TH 20 Hicd A HIGI Uk AT GER T Foh 85 8 | T8 FTHM 6 F1 30° 31 10 5T 2 |
il % AR FH1 g A fag 134T 2
(A) 10 . (B) 17.32 Hi.
(C) 8.16 . (D) 13
56. A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the point the ladder touches wall is
(A) 10m (B) 17.32m
(C) 8.16m (D) 13 m
57. <CGIT 1000 “IF YGACS 3 eay 391 7% (202 22 .14, | THGR TPi% 24
(A) 45 B) 2.1f.
(C) 2.8fw. (D) 3.5
57. QI UIA 1000 Saee 22 fhefis 7 oy e | TRefba i
(A) 4.5 B) 2.1f%
(C) 2.8M¢ D) 3.5M¢
57. AR FEEIET 1000 fifeam sma 22 fo.fa. SmuR gaem | 9 @i« 9@E g ! A
KIEIR
(A) 457 B) 21fa
(c)y 2.8fa D) 3.5fm
57. W& W&A1 1000 TFRLH 22 T3, 1. 31 gl 73 L 91 & | Ted 1 =731 (Radius) 2
(A) 4.5 (B) 2.1
(C) 2.8+ (D) 3.5
SPACE FOR ROUGH WORK
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57. A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel 1s
(A) 45m B) 2.1m
(C) 2.8m (D) 3.56m

58. 10 oI5l f*ms<s 2/ W famieR® G&e s S 299 0 I F1el wcel 25 929
RO S GG *ERCE (ERS Q97 FE | TR e =6 o RT3 EPT AR |
S &2 | HES G R (AR
(A) bH5H=d (B) 654929
(C) 587 (D) 60 7=

58. D FCA 10 T MRS ST | QTG SPF &2 FACH AR SW0F 25 IO ROH
QTG TG *PET QT FCAC | TR FEERAE T RT3 AT ZRT YR | S
21 PrsTHa R 29 -
(A) 55 IO (B) 65 3@
(C) 587e7™ (D) 60 7>

58. @1 TS BRI TET T8 Sr=atd AT, I AT =T 3R AT AR 25 SER SE 111 TeH
BRIATT fa==man | T A1sfed, BRIFTR BRA 5= TSAE 31 3 51 @AEART | AT
A BRIAT A FH AT 54 7
(A) 55 9MER (B) 65 9@
(C) 58 TR (D) 60 FER

58. 10 T3re 3Tc1 Shed H, e (3187 h1 Sal i T gia 25 a1 = 31 31 Uk =31 {97&ek (139
g1 | afomeeET, fhee 1 3TEd 91 3 W AIE | a4 e H g 2
(A) 55 (B) 65a9
(C) 58ad (D) 6079

58. In a school with 10 teachers, one retires and immediately a new teacher of

age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 years (B) 65 years
(C) bH8years (D) 60 years
SPACE FOR ROUGH WORK
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59.

59.

59.

59.

59.

720 9/ it 2 @2 feRS & 9 W @A RN S ATS T 5 | SR
1: 12 F wisfaw e st @RmE aeis 279 #Afem 2

(A) 60 B) 120

(C) 180 (D) 240

720 o fi 21 @ 0 (20F R WRASAC 2 72 5 | (2071 '€ WRANATS 1 -
1 30® 306 € o0& NR o © 30e 3(q ?

(A) 60 (B) 120

(C) 180 (D) 240

1 720 HEEFHE] T9 HEAATAAE 2@E JR fE=Edi= aa9i 5991 3711 JEE
7.5 | FFUEAT] : 1 AHGA], AT Ta-=== @ g [UaT==iE ?

(A) 60 (B)y 120

(C) 180 (D) 240

720 BHEI % U Thel 4 ASH] AR ASHAHI I HIFAIE 7 : 52 | AIA 1L : 1 FAHH
Teu 371 fopa @il =1 I591 T ST =aT 2

(A) 60 (B) 120

(C) 180 (D) 240

The ratio of the number of boys and girls in a school of 720 students is 7 : 5.

How many more girls should be admitted to make the ratio1:1?
(A) 60 (B) 120
(C) 180 (D) 240

60.

60.

120 & 2@9 @bl B@RPTS 45 T 4w Y5 Stz | A 2@[@apte Te1ee 30 & 23
QW 0, (S08 NG < 2@apio! e e ofea #ifa 2

(A) 40w (B) 38fmm

(C) 36T D) 327

QB F@@ATT 120 T BE 7 @3- 45 e T [ 92 F90 2R0e | A 91[8 30 &
T 20T 19 FE S04 ZEQI0T V&S 2! < T el TFa 2

(A) 40T (B) 387

(C) 36 (D) 32 f

SPACE FOR ROUGH WORK
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60. TTH FEGA ITE AT 120 HEAT ¢ HAR JER 1 9 45 f7 91@™ T | Je 3 a5aema AEE
41 30 FUIATHT YTHAT, e STHE JATERHAT & ST TS AT A1 B ?
(A) =40 (B) 9™ 38
(C) =36 (D) =32

60. TFH TETEEH 120 TH 2 ARG H1 AT G 45 Te1 5 A0 2 | 37T 30 R BHE IEEE
IMAA Z17TY, A1 ASE] HI9HA 9 FHTEE fhad fe =or ?
(A) 40fe (B) 38fca
(C) 36fe D) 32fe

60. A hostel has 120 students and food supplies are for 45 days. If 30 more
students joined the hostel, then how many days the hostel will run with the
existing food ?
(A) 40 days (B) 38 days
(C) 36 days (D) 32 days

61. 2mE “2TE2 G5 @r=RE @IE 9F T R “ifawe feifers wve miEe | Tanm

Tax “[@35@ [ (Pl I :

Tax
450 HR
500
Infrastructur Training
200 150
%,
&5

p Travel \ 25 }?&"é}

Outsourcing 400

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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61. Ty Sraive g TEh Ghib 2 SDiea ACTTF TRT O e FCH | P IS Telo

S FA CPIETT NI -
&g
450 L ICE R b
500
ATIPISTA
200 oy
. G 5. YO
tfe T\ T\ 2%,
400
TQ : 4av (77%)
(A) 90° (B) 45°
(C) 72° (D) 8l°

61. T3 FATHTI S AFH HEAMAT SELH ARG (ERITE @@ | @1 (Tax) TR 1 E
TGN A 3T 5 7

Tax
450 E_IOE({]
5]
Infrastructur Training
200 & 150
%,
P Travel \ & Q?&‘ 7
Outsourcing 400 R

HAE : T (T 3ATE)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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61. T8 =Te foret feu mu o & forw fopet et & =3 &1 faa fe@ta 2 | &1 (Tax) @S g
AT SR :

Tax
450 HR
500
Inf;%s::'tructur Training
150
e
9 Travel Qgc-,
Outsourcing 400 7
Fig. : =99 (7IRg H)
(A) 90° (B) 45°
(C) T72° (D) 81°

61. The pie chart shows the expenditure breakup of a company for a given year.
The angle subtended by the Tax segment is

Tax
450 EE{{]
)
Infrastructur Training
200 150
&
4 o
y ; Travel 25,
Outsourcing :?]\[)L -:250 @

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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62. 0T =051 wWia[piE 99 Ata Toiye @t Fafte w1

- } > >
D> > ) > ?
> > > | >
% —_—
A) (=¥ B) [ r—
e — G
G —
C) |=—> D) | «—
— _—
62. TV LT FTETa 03 Ug (G % e
> ) > >
b > 3 > i
= P> > b
% S—
A) [==* B) [ r—
—— e
+— —
C) |~—> D) | «—
e —d
62. TN HIEET ATRID STEEI {9 AR E J=E” ?
> > b >
> > 5 > ?
- > > |
—_— S—
A) |[=—= (B) | ——
b <4+
<+ —_—
C) |=—* D) | «—
-— —
SPACE FOR ROUGH WORK
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62. AT @ T " % {70 377 HH A BT B

-+ b, > >
= > 5 > ?
= > > ),
_ —
A) [[==F B) | ——
p——— 44—
— _—
©) |=— D) | «—
«— —d

62. Select the appropriate figure to continue the figure series.

= ) B> >
S > 3 > 4
= P> > b

—_— D—
Q) [[—> (B) | ——

<+

+— ]
©) |— D) | «—

- —d

63. AT TE (?) Thre <5 st Az wifem 2
14
22
34
41
53 ?
(A) 14 (B) 55
(C) 15 D) 45
SPACE FOR ROUGH WORK
msE
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63. ZMENT TTSA (7) SRS i 712205 a2

14
22
34
41
53 ?
A) 14 (B) 55
(C) 15 (D) 45
63. drq faa 9 3rafaT= A B e 2
14
22
34
41
53 ?
A) 14 (B) 55
(C) 15 D) 45
63. THAE® 9% (?) % T T H T A AT 8T 2
14
22
34
41
53 ?
(A) 14 B) 55
(C) 15 (D) 45
SPACE FOR ROUGH WORK
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63. What number should replace the question mark (?) ?

14
22
34
41
53 ?
A) 14 (B) 55
(C) 15 (D) 45
64. BROTHER, HUSBAND, MEN

43 (A T WS S T R oed efeiis 731 T Tars 1 |

(A)

(©)

64. FI08 eyl (HTILTEE N0 A SPHFHT (R TEh Yt Siered &

Q@

T I-%\s Al

(A)

©)

©I2, TR, WE

Q@

(B)

D)

(B)

D)

[ N ey

SIS SO

SLRC-2022/P-IV/B
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64. TTEETE BFE YTETHR A TS YA FHGRE | 931G 3 AT a3 BRAEIT AT &1 2
e, Tram, g At

(A) B)

© | D D)

64. 39 TG F1 TETH HL JTEUTT FT F 1 F99 F1 99 =91 a4 AT 2 -

WTE, i, T
N o
© | D)

64. Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

(A) B)

© | @D D)

SPACE FOR ROUGH WORK
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65. *TTN 1 5 =T 50 #1201 fFgNw @ 2 : 3 SFATTS N 3 35 AT 2w | RIS 50 “20[
TR R C20Z
(A) 20 B) 25
(C) 30 D) 35

65. *I 1 516 @R 50 “RE NG 2 : 3 SRS 35 BIF T FALE | 50 RAR YT AT 5 |
(A) 20 B) 25
(C) 30 D) 35

65. 919 HRI50 FAMET 2 : 3 ¥ 91831 3™ 313 35 U SHYHAT | 50 FAMETA A 01 949 2
(A) 20 B) 25
(C) 30 D) 35

65. AW A 1 ¥ % Toah] 37K 50 T o faahi = 2 : 3 % 399G 43 35 dufaa fear | 50 T H
fampI 1 oEAT 2
(A) 20 B) 25
(C) 30 (D) 35

65. Shyam stored ¥ 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :
(A) 20 (B) 25
(C) 30 D) 35

66. TFISETNN 7 G5! XSS HpTiel AT #Q{1 7N ZC IF AT OTFER F_T 129
ZS STE | W (SETAS GRS [T 2 e A, (O0F Hr2l AETFET [l 22-95
ERTS 2T | *IFMH S YITS FmFTse 1 91 T2 ?
(A) 19 (B) 31
(C) 33 (D) 34

66. ifaam ETE W02 FRIE INTF @TF T N i G A0 THHS @F 12 O EE

itz | ¥ oA it 2 “faaee 59 o FRie 9% 76 @t 22 oW ZieT Wit | Aifabre
™6 Fo& (20 HE 2

A) 19 (B) 31
(C) 33 (D) 34
SPACE FOR ROUGH WORK
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66.

BEEN BRI A FALHATE, 9 371 AFTE%™ 7 19 3413 g™ 311 969 31 AT %™
12 fo1 379 g | e SR TTE gTat ST, S-S SAmtEtmE 22 o e
gTeAT | ¥ ATHSTE A58 BFETRR € 2

(A) 19 (B) 31

(C) 33 (D) 34

66. SH1 Hi UH dfFd H, HHY F9 F AG9 IR THH 3 F 129 ™WH W 2 | e F FAF =™H
HATTE H ¢ o1d &, A1 4T AE 9 223 ¥ T ST 2 | Tiad | fhad @i 2 2
(A) 19 (B) 31
(C) 33 (D) 34
66. In a row of boys, Srinath 1s 7tt from left and Prabin is 12t from right. If they
interchange their positions, Srinath becomes 2224 from the left. How many
boys are there in the row ?
A) 19 B) 31
(C) 33 (D) 34
67. AW 72 M 96=6927, 53 M 87 = 7885 =, (ST 79 M 86 =?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
67. %72 M 96 =6927, 58 M 87 = 7885, T3 79 M 86 =?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
67. Tc72m 96 =6927, 58 m 87 = 7885, 3751 79 mm 86 = ?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
67. (e 72m 96 =6927, 53 m 87 = 7885, 179 M 86 =?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
67. If72m 96 = 6927, 58 m 87 = 7885, then 79 M 86 =?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
SPACE FOR ROUGH WORK
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68. AW+ @ TN, F @ RN, = & YR/ X A T &G IR, (0¥
18 +12x4— 59 (T :
(A) 25 (B) 35
(C) 40 (D) 33
68. W < WG TS W, + NG GRS /W, < WG QO B/ QT X NI Tl B/ w6
18+ 12 x4 —599¥ 23 ;
(A) 25 (B) 35
(C) 40 (D) 33
68. Ffg + I TEEIE, + AT THETE, = I FHAARIE FA % AT THA BRAAT
18+ 12 x 4 — 5 fqaAmTAT 7
(A) 25 (B) 35
(C) 40 (D) 33
68. g+ HHAL B |, + HT 7T GTAL = HT F T FE % B FL qE 7, AT
18+ 12 x4 -5 HIAAS
(A) 25 (B) 35
(C) 40 (D) 33
68. If ‘+ means ‘addition’, ‘+" means ‘subtraction’, '~ means ‘multiplication’ and
‘x” means ‘division’, then the value of 18 + 12 x 4 — 5 1s
(A) 25 (B) 35
(C) 40 (D) 33
69. 7,11,19,31, 67 TR @ ZMT W1 0202 :
(A) 43 (B) 47
(C) 51 (D) 45
69. <R s ize i 27 : 7, 11,19,31, 67
(A) 43 (B) 47
(C) 51 (D) 45
SPACE FOR ROUGH WORK

mem
SLRC-2022/P-IV/B 48 EII'%%



69. 7,11,19,31, . 67 HIN AATHAMA f9gmai+ a4 A0 |
(A) 43 (B) 47
(C) 51 (D) 45
69. JFFEAT, 11, 19, 31, L 67T AgA ISR
(A) 43 (B) 47
(C) 51 (D) 45
69. The missing term in the sequence 7, 11, 19,31, _ 67 1is
(A) 43 (B) 47
(C) 51 (D) 45
70. ATGNATH (22 Q, A 25 BI AW 4@ | W3S BT 8122 P IR o< P
AL AA 22 R | R A7 Q T 00S & 1_09 37o{fFs 2
(A) *PE (B) ™1
©) @ D) g
70. Q 75 A 9T GG (@, & B 4T 4T 7@ | B 9T &1 251 P 4T 01, I9 4FNF 4@ R |
R SO Q 93 0% FoA[FS ?
(A) =ed (B) I
(©) = (D) foret
70. Q AT IR T foa9E I Sea™@ B 7 9@ Tharsen | B 14 fafa 311 P 5 THamsn
SR ArEd TRATT R | AR R 81 Q ST AMFgl gor T ?
(&a) faem ®B) far
(C) Twarer (D) T
70. Q, A S SHAMI 584 2, S B H15hailal 521 2 | B 1 91 P &1 51 2, Foaes wwam 521 2
RIR, Q®HFTFTATATR?
(4) FF (B) =T (3H)
(C) = (D) foa
70. Q is the only sister of A, who is the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?
(A) Father-in-law (B) Uncle
(C) Son (D) Father
SPACE FOR ROUGH WORK
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Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

it was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,
face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero

hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood., to see the effects of radiation on the surface

of the earth.

m5
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71. The bomb exploded
(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst
(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances

72. Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

73. The spectators included
(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.
(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.

74. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon
(C) both Oppenheimer and McKibbon (D) Government officials

75. It is implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the
head away from zero.
(B) cover their eyes with coloured films and keep their head averted.

(C) lie down flat, face and eyes directed towards the ground and with the

head towards zero.

(D) cover their heads with coloured films and eyes closed.

5ta
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76. B-29 superfortresses and Sherman tanks are used to
(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.
(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.

77. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.

(D) Clouds are not devastating.

78. A synonym and antonym for the word Scorching would be
(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating

79. Zero Hill was located in
(A) Desert region of Almogordo
(B) Desert region of Los Alamos
(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

80. Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down
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81. M THIGI! ACH! TN 74 CAISFeT 190 T, (O0F HBIBOLF HF HeLiG! 29 -

(A) 40 B) 19
(C) 38 (D) 36
81. (% TG “0T5 T ST IFeT 190 =, S0 SITHa S0 S57ex SR 297 :
(A) 40 B) 19
(C) 38 (D) 36

81. HMsT AT (HATR @1R) A i grmetéan Je 190, s&rfq AegE =53 g
FArSEET AT ?
(A) 40 (B) 19
(C) 38 (D) 36
81. 3fg I SHAFT S H1 IR 190 7, q1 34 & F94 BIE] FE&A 2
(A) 40 (B) 19
(C) 38 D) 36

81. If the sum of five consecutive numbers is 190, then the lowest number

amongst them 1s
(A) 40 B) 19
(C) 38 (D) 36

82. @Bl 5jefaaf iRefpl “I1TAT 2450 T3 %[l T FGNRI TAFTSH IRATB] 202 -

(A) 2 B) 3
(C) 4 D) 5
82. IISN R AR AMI 2450 (F & T #{of A0l ST BE¥! AR oA T
(A) 2 B) 3
(C) 4 D) 5
SPACE FOR ROUGH WORK
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82. I FATHTSI 2450 W1 AFSEGEAT 531 HTG F AHIE ?
(A) 2 B) 3
C) 4 D) 5
82. U TEH DI A FFaH 2450 1T T a1 T4 o 143 0N T I I8, T2 2 -
4) 2 B) 3
(C) 4 D) 5
82. The least number by which 2450 must be multiplied to make it a perfect
square, 18
A) 2 B) 3
(C) 4 D) 5
83. U eI W& 20% AW Im =, (O TR AT 472 «TF If4RE KT OfF Fwm
I T S F9E 2
A) 132% ®) 142%
(© 152% D) 165%
83. % fufa =T 20% e & w1 «Ifaaifas fThra g7z 5 wore T 23 Are «w
w5 6® 9T ?
A) 132% B) 143%
-2 2
(C) 155% D) 165%
83. e A= 7571 20% i1 STl ] T4 FEL 371§ 919 @1 U e A1 94 Si@ 14 G|
THEAMHE ?
A 132% B) 142%
(©) 155% D) 163%
SPACE FOR ROUGH WORK
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83.

83.

ate = 1 F1ma 7 20% F1 3g 2l 2, a1 b AR B =1 % 379 A fopaq ufqea #
HH A AT 8T qlh Fore F9H @ 2

A) 133% B) 142%
(©) 152% D) 163%

If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the

same ?

A) 1359 B) 142%
( 3 3
(C) 152% D) 163%

84. p, q, r 9T efeTBl et AT® PYFqIFAE. q, VEFEqAFrI=AS. r R | p.q
I ¢ 9.8, TE
(A) q B) r
(C) qr (D) pqr
84. p,q.r g3 el >Rt are PequiIFAALE. q ERqESrd99a.L. rlp, q8rdd
FLALG. 20T
A g B r
(C) qr (D) pqr
84. p, q, v 3 ARG Qe FAF 3 p 7R q g3 A M q, q I FAg A
TIAA x| p, q AR r 9 g4 AM=37177 7
(A) q B) r
(C) aqr (D) paqr
84. p, q, r TH FEATT 39 FHE & {6 p 3R q & ogTd FqTa3 (LCM) q 2 37 q 79T ¢ H1
T FATEIA 1 B | p, q 3R ¢ BT AT FATISH 217 :
(A) q B) r
(C) qr (D) pqr
SPACE FOR ROUGH WORK
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84. p, q. r are three numbers such that the LCM of p and q is q and the LCM of
q and r is r. The LCM of p, q and r will be
A) q B r
(C) qr D) pqr

85. 20 ./t W siferasre vfe o 100 W59 i @4e @@ eiiSl 1 5.4, Trwfa @<=
TR YA BETS (@GN 2R G [ PR -
(A) 45 TS (B) 50 TTFe
(C) bLHLHTIY (D) 60wt

85. 100 fX51a treefa @b (@@ eitt effs o 20 f@ when sfetats 1 feefe trfa org
e I | (FAINTHOF TG S ST FACS R #1951 -
(A) 45T (B) 50 Ty
(C) 55T (D) 60 T

85. 100 fa em=urstana = 311 1 Top.fu. eegtsi= gremat 20 fa./4. ae@ TRt any | great
AT S ¢4 15 T9 A7 ?
(&) 459 (B) 503
(C) 559 D) 603

85. TH 100 HIX @&l ¢ 20 Hi./ae F ThaHH 11 9 Fad! g3 1 1.9, @@% % 16 &1 TR
FHIA 2 | T BT IR HH & e 7 grafanman ama 2
(A) 45 9%FE (B) 50 &g
(C) 55 dFE (D) 60 FFHs

85. A 100 metre long train moving in a uniform speed of 20 m/sec crosses a

bridge of length 1 km. The time taken by the train to cross the bridge 1s

(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
SPACE FOR ROUGH WORK
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86. 0.037 T wlex F+IThT C7LR :
(A) % B) %
(©) % D) 1330
86. 0.037 T TUiN TIBITO T :
(A) % (B) %
(©) % (D) 1380
86. 0.037 {7 I@T=E =l e 1 &
(A) % B) %
(©) % D) 1380
86. wH 4= % ®TH 0.037 1 EIA 2
(A) % B) %
(©) % D) 1350
86. The conversion of 0.037 in the fractional form is
(A) % B) %
© 106 ® Too5
SPACE FOR ROUGH WORK
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87. —76 F 3 T3 29 FACE &% S50 (22 :
A -1 B) 1
(C) 2 D) -2
87. 76 (F 3 Q97 Ol5 B Oleee
A) -1 ®B) 1
Q) 2 D) -2
87. —76 13 I TARA AFAME ABET TR H
A -1 B 1
(C) 2 D) -2
87. —76 %13 a9 &3 T I AT R -
(A -1 B) 1
C) 2 D) -2
87. The remainder when —76 1s divided by 3, is
A) -1 B) 1
) 2 D) -2
88. WOITQYHS (PPN 1: 3 : 4 : 7 ST HTR | A6 P FfeH (Bl 12/ 2 :
(A) 120° (B) 140°
(C) 144° (D) 145°
88. T UOULEH (FEONLFATAT 1 347 | JZEN AR FTSH (T 7207 “[1277 -
(A) 120° (B) 140°
(C) 144° (D) 145°
88. HHH ARSI IR T HTFAEE 1 3 : 4 : 7 | HHFIR A g3 o @A HRw
FTAFE
(A) 120° (B) 140°
(C) 144° (D) 145°
SPACE FOR ROUGH WORK
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88. THIAGHIA R B FIAIIG 1 :3: 4 : 72| 996 92 HR F94 DI H % 54 H1 3 2
(A) 120° (B) 140°
(C) 144° (D) 145°
88. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference
between the largest and the smallest angle 1is
(A) 120° (B) 140°
(C) 144° (D) 145°
89. /20 x 45 +1/0.04 ++/0.64 T % T2z :
(A) 26 (B) 31
(C) 36 (D) 41
89. /20 x 45 +1/0.04 +4/0.64 4TI
(A) 26 (B) 31
(C) 36 (D) 41
89. /20 x 45 +1/0.04 ++/0.64 f7 91 3171 SI=M=
(A) 26 (B) 31
(C) 36 (D) 41
89. /20 x 45 +4/0.04 +4/0.64 FTARE :
(A) 26 (B) 31
(C) 36 (D) 41
89. The value of /20 x 45 +4/0.04 +4/0.64 is
(A) 26 B) 31
(C) 36 (D) 41
SPACE FOR ROUGH WORK
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2 3x + 5y  6x+ 4y

90. % =3, (I3 — 59 Gry M
1 2
@ 3 ® 3
1 2
© —3 D) —3
x 2 __3x+b5y 6xatdy
90. AT =T, A5 — 5y ony SN
1 2
A) 3 B) 3
1 2
© -3 O 3
x 2 3x+ 5y  6x+4dy
» — =7 HeAl * =9
90. 3lray 3¢ 33‘—5y+ 6x—y '
1 2
A) 3 B) 3
1 2
©) —3 D) —3
x 2 . 3x+5y 6x+td4y
9. mty_ 3 33‘—5y+ 6x—y 8
1 2
A) 3 B) 3
1 2
© —3 D —3
x 2 3x+ 5y 6bx+ 4y .
90. If; =3 then 3x—_ by ~ Ga_y 1s equal to
1 2
A 3 ® 3
1 2
©) -3 D) —3
SPACE FOR ROUGH WORK
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Q. 91 - Q.92 : Choose the correct pair of words which are SYNONYMS of each

other.

91. (A) Regent — Substitute (B) Monotony — Variety
(C) Ancestry — Posterity (D) Precept — Example
92. (A) Vacillate — Waver (B) Oscillate — Stand
(C) Undulate — Flow (D) Spiral — Drip
93. Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy — Indolent (B) Glide — Drift
(C) Entire — Total (D) Obligatory — Voluntary
94. Choose the option which will best replace the underlined words in the
sentence to make it correct :
“She done it to quick so it came out looking rough.”
(A) done it too quickly (B) did it too quick
(C) dad it too quickly (D) dad 1t to quackly
95. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost™.
(A) To exorcise a ghost

(C) To be possessed by the dewvil

(B) To die

(D) To worship the devil
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96. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks

Q. 97 to Q. 100 : Insert the correct options in the blank spaces :

97. The tenants were asked to throw all recyclable trash into
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag

98. The process uses an innovative digital technology the products with as

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

99. I quoted it from

(A) Mind (B) Heart
(C) Soul (D) Imagination
100. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green
(C) went into yellow (D) went into red
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